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1. A box contains 2,765 toy cars. If they are to be packed into boxes
of S cars each, how many boxes will be needed?

Answer:

2. A box contains 2,765 toy cars. If they are to be packed into
boxes of S cars each, how many boxes will be needed?

Answer:

3. A Ffactory produced 4,386 chocolate bars in a day. If each
package contains 2 bars, how many packages can be made from
the total production?

Answer:

4. A teacher has 3,528 pens that she wants to distribute equally
among her 6 students. How many pens will each student get?

Answer:




S. A store has 6,480 cans of soda to distribute to 9 stores. If they
want to give each store an equal number of cans, how many cans
will each store receive?

Answer:

6. A delivery truck can carry 5,632 boxes of fruits. If each store
needs 8 boxes, how many stores can the truck deliver to?

Answer:

7. A farmer has 7,235 eggs to distribute equally among S stores.
How many eggs will each store receive?

Answer:

8. A hotel has 9,876 guests and wants to divide them equally among
6 floors. How many guests will be on each floor?

Answer:




